B T If 58 2 g of strontium nitride yields 45 Og of strontu )
K ‘f ~ the reaction. ‘
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c.  What mass of nitrogen will actually be obtained? 3 ‘ -».' '.'::
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2. Mercury (l) oxide can be decomposed into mercury and oxygen.
a. Write a balanced chemical equation for this reaction.
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b.. 1f54.15 g of mercury (il) oxide yields 3.250 g of oxygen, determine the percent yield fnr‘ et
the reaction. N7
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c. What mass of mercury will actually be obtair_\ed?
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3. Zinc and fluorine can be combined to form zinc fluoride.
‘a. Write a balanced chemical equation for this reac’ﬂon :
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4. Magnesium chloride reacts with silver nitrate.
a. Write a balanced chemlcal equation for tl}r rf rftlon
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b. If 21.2 g of silver nitrate react with a percent yield of 80.0 %, what mass would actually
be obtained for each of the products?
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c. [If 476 g of magnesium chloride yields 400 g of mag sium mtrate deteriine the
percent yield of the reaction. What mass of sliver chloride would actually be obtained?
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5. Aluminum is reacted with copper (ll) sulfate. 143. 976 [ mol .
a. Write a balanced chemical equation for this reaction. 2% e
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b. IF 5.60 g of aluminum react, determine the mass of copper (ll) sulfate required.
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If 18.0 g of copper are actually produced, determine the percent yield of the re:
What mass of aluminum sulfate will actually be obtained? ( —
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